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Teacher’s Notes

Introduction

The Wildwood Animal Workbooks for Key Stage 2 include Wolves, Badgers, Otters,
Frogs and Owls. Each workbook follows a standardised pattern so that children can
select different animals to study but still cover the same themes.

A companion pack on wolves is also available; Let's Talk Wolf is a wolf communication
programme using body language and facial expressions, linked to the SEAL and anti-
bullying programmes.

The activity sheets are appropriate for use either as an introduction before a visit or as
follow up work. Each activity sheet is designed to link in with and support National
Curriculum Programmes of Study for different subjects, including Science, Literacy,
Numeracy and Art. There are also Key Stage 1 workbooks covering the same animals to
aid differentiation.

Activity Sheets

The following list gives details of the activity sheets contained in the workbook, includ-
ing the relevant National Curriculum P.O.S and the learning objectives which each sheet
covers.

Adaptation
SUBJECT: Science
“ P.O.S:

1

Sc2 - Living things in their environment

LEARNING OBJECTIVES: To understand that different animals are found
in different habitats.

To understand that animals are suited to the
environment in which they are found.

Food Chains and Teeth
SUBJECT: Science

2

“ P.0.S: Sc2 - Living things in their environment

LEARNING OBJECTIVES: To understand that most food chains start with
a green plant.

To identify the structure of a food chain of a
specific animal.

To identify important
features of an animal's mouth

in relation to its diet.
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Food Chains and Diet

SUBJECTS:

P.O.S:

LEARNING OBJECTIVES:

Science & Numeracy

Sc2 - Humans and Other Animals
Ma4 - Processing, representing and
interpreting data.

To understand that different animals have
different diets.

To present evidence about foods eaten by
an animal in a suitable bar chart.

Habitats and Homes

SUBJECT:
P.O.S:

LEARNING OBJECTIVES:

Tracks and Signs
SUBJECT:

P.O.S:

LEARNING OBJECTIVES:

Science
Sc2 - Living things in their environment

To identify different types of habitats.

Science
Sc2 - Living things in their environment

To identify wolves according to observable
features.

Human Impact and Conservation

SUBJECT:
P.O.S:

LEARNING OBJECTIVES:

Science
Sc2 - Living things in their environment

To recognise ways in which living things and
the environment need protection.
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Myths and Legends

m SUBJECT: Literacy
P.O.S:

En2 - Myths, Legends & Traditional Stories

LEARNING OBJECTIVES: To understand the difference between
myths and legends and fact.

m SUBJ ECTS: Literacy & Science
«d : :

En2 - Reading for information
Sc2 - Living things in their environment

LEARNING OBJECTIVES: To scan texts to find information.

The Wildwood Wolves

SUBJECTS: Art

P.O.S: Exploring and developing ideas

LEARNING OBJECTIVES: To record from firsthand observation.

Life Cycle

m SUBJECT: Science
«& P.O.S: i

Sc2 - Living things in their environment

LEARNING OBJECTIVES: To understand that adults have young and

that these grow into adults which in turn
produce young.
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Activity

SUBJECT:

P.O.S:

LEARNING OBJECTIVES:

Activity

SUBJECTS:

P.O.S:

LEARNING OBJECTIVES:

Glossary

SUBJECTS:

P.O.s:

LEARNING OBJECTIVES:

Literacy
En2 - Reading strategies

To recognise words and show understanding
of their meanings.

Art & English

Investigating and making art,craft and
design

En2 - Nonfiction and nonliterary texts.

To develop control of tools and techniques
in art and design.

To understand the structural and
organisational features of instructions.

Science & English
Sc2 - Life processes and living things
En3 - Spelling

To develop understanding of scientific
vocabulary.

To have a secure understanding of the
purpose and organisation of a glossary.

Please note that throughout the pack, underlined words can be found in the

glossary.
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Visit Wildwood after dark
Our wolves are most active in the evening and at night time. You
can come see them after the park has closed if you come on a

Night Tour or a Twilight Tour. I you're lucky, you can even hear
the wolves howling!
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